Math 232 Calculus 2 Fall 21 Midterm 1b

Name: SOLM'hGV\S

o T will count jour best 8 of the following 10 questloﬂs ‘

e You may use a calculator, and a 3 x 5 index card of notes.
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(1) (10 points) Find /$2 cos(1 — z*) dx.
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(2) (10 points) Find f e_e*_ 1
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(3) (10 points) Find the area bounded between the curves y = —z and y = 2 —2
over the interval 0 <z < 4.
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(4) (10 points) Draw a picture of the region bounded by the curve y = 22 — 9
and the z-axis. Find the volume of revolution of this region rotated about
the z-axis.
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(5) (10 points) Find the volume of revolution of the triangle with vertices (1,0), (3, 0)
and (3,2), rotated about the y-axis.
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(6) (10 p‘oiﬁté) Find the wolume of the truncated pyramid whose base is the

square in the zy-plane with vertices (£2, +2, 0} and whose top is the square
in the planie z = 1 with vergices (+1, 41, 1). B
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., (8) (10 points) Find, || ex?sin(2)y da.
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(10) Find fcos(E:n) cos(2z) dz.
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